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Contingency 
Table DstM < XM DstM > XM

DstK > XK F = 179 N = 3574

DstK < XK H = 172 M = 66

H

NF

M
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Contingency 
Table DstM < XM DstM > XM

DstK > XK F = 179 N = 3277

DstK < XK H = 172 M = 30

H

NF

M
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Contingency 
Table DstM < XM DstM > XM

DstK > XK F = 0 N = 8458

DstK < XK H = 554 M = 0

H

NF

M

For the entire 
year of 2015, not 
just the 2nd half.
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Contingency 
Table DstM < XM DstM > XM

DstK > XK F = 59 N = 8398

DstK < XK H = 495 M = 59

H

NF

M

Kyoto values 
from 1 h prior to 
y-axis values
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Contingency 
Table DstM < XM DstM > XM

DstK > XK F = 98 N = 8358

DstK < XK H = 456 M = 98

H

NF

M

From 2 h prior to 
y-axis values
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Contingency 
Table DstM < XM DstM > XM

DstK > XK F = 398 N = 8036

DstK < XK H = 156 M = 398

H

NF

M

Taken exactly one 
day prior to y-axis 
values
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Contingency 
Table DstM < XM DstM > XM

DstK > XK F = 0 N = 3891

DstK < XK H = 0 M = 266

H

NF

M
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Contingency Table Model in the state Model not in state

Data not in state False Alarms (F) Correct Negatives 
(N)

Data in state Hits (H) Misses (M)
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POD =
H

H +M

POFD =
F

F + N

HSS =
2 H ⋅N( )− M ⋅F( )#$ %&

H +M( ) M + N( )+ H +F( ) F + N( )

HR = H
H +M +F
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Contingency 
Table DstM < XM DstM > XM

DstK > XK F = 129 N = 8326

DstK < XK H = 425 M = 129

H

NF

M

From 3 h prior to 
y-axis values
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Contingency 
Table DstM < XM DstM > XM

DstK > XK F = 153 N = 8301

DstK < XK H = 401 M = 153

H

NF

M

Kyoto values 
from 4 h prior to 
y-axis values


